

Project(s) and Vendor Ranking

Page 1 of 2

Call Order: 151 Contract ID: 84-0753-061 Primary County: SIOUX

Letting Date: March 28, 2023 10:00 A.M. **DBE Goal:** 0.0%

Letting Status: SIGNED CONTRACT Awarded Vendor: KNIFE RIVER MIDWEST LLC

Contract Period: Start Date: 05/01/23 15 Working Days

Project Information:

Project: NHSN-075-3(061)--2R-84 WorkType: HMA RESURFACING WITH MILLING

County: SIOUX Prj Awd Amt: \$681,693.45

Route: U.S. 75

Location: S 9th St to 1000 ft N of N 15th St in Sioux Center



Project(s) and Vendor Ranking

Page 2 of 2

Call Order: 151 Contract ID: 84-0753-061 Primary County: SIOUX

Letting Date: March 28, 2023 10:00 A.M. **DBE Goal:** 0.0%

Letting Status: SIGNED CONTRACT Awarded Vendor: KNIFE RIVER MIDWEST LLC

Contract Period: Start Date: 05/01/23 15 Working Days

Rank	Vendor ID	Vendor Name	Total Bid	Percent Of Low Bid
1	KN036	KNIFE RIVER CORPORATION D/B/A KNIFE RIVER MIDWEST LLC	\$681,693.45	100.00%



Tabulation of Construction and Material Bids

Page 1 of 2

Call Order: 151Contract ID: 84-0753-061Primary County: SIOUX

Lett	Letting Date: March 28, 2023								
Line No / Item Number Item Description			(1) KNIFE RIVER CORPORATION D/B/A KNIFE RIVER MIDWEST LLC						
Alt Set / Alt Member Q		Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway Items						Cat Alt Set:	Cat Alt	Member:	
0010 HOT M	2212-5075001 IIX ASPHALT SURF	35.000 ACE PATCHES	TON	300.00000	10,500.00				
0020 PAVEN	2214-5145150 MENT SCARIFICATI	13,899.330 ON	SY	9.88000	137,325.38				
	2303-1042500 IIX ASPHALT HIGH MEDIATE COURSE		TON	120.00000	137,916.00				
COUR	2303-1043500 IIX ASPHALT HIGH SE, 1/2 IN. MIX, NO REMENT			120.00000	137,916.00				
0050 ASPH	2303-1258284 ALT BINDER, PG 58	137.920 -28H, HIGH TRAF	TON	847.11000	116,833.41				
0060 TRAFF	2528-8445110 FIC CONTROL	(1)	LS	42,430.64000	42,430.64				
0070 FLAGO	2528-8445113 GERS	40.000	EACH	575.00000	23,000.00				



Tabulation of Construction and Material Bids

Page 2 of 2

Call Order: 151 Letting Date: March 28, 2023	Contract ID: 84-0753-061 (1) KNIFE RIVER CORPORATION D/B/A KNIFE RIVER MIDWEST LLC		Primary County: SIOUX				
Line No / Item Number Item Description							
Alt Set / Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway Item	TION: 0001 Roadway Items				Cat Alt Set:	Cat Alt	Member:
0080 2528-8445115	10.000 EACH	865.00000	8,650.00				
PILOT CARS							
0090 2533-4980005	(1) LS	67,122.02000	67,122.02				
MOBILIZATION							
Section Totals:			\$681,693.45				
Contract I	tem Totals		\$681,693.45				
Contract T	ime Totals						
Contract Gr () indicates item is bid as Lum		\$681,693.45					